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1) Find area of 2) Find area of square 3) Find area of
b rectangle having having each side (s) b rectangle having
sidesa=942in equals 921 m sidesa=974m
a andb=694in a andb=878m
s
Answer: Answer: Answer:
4) Find area of 5) Find area of square 6) Find area of square
b rectangle having having each side (s) having each side (s)
sidesa=704in equals 156 in s equals 714 cm
a andb=177in
s s
Answer: Answer: Answer:
7) Find area of 8) Find area of square 9)
b rectangle having having each side (s) 30 Find Volume of
sidesa=496 m equals579in _ 26 | Cylinder
a andb=157m S
s
Answer: Answer: Answer:
10) Find area of square 11) Find area of square 12) Find area of square
having each side (s) having each side (s) having each side (s)
s equals 680 ft s equals 593 m s equals 833 cm
s s s
Answer: Answer: Answer:
13) Find area of 14) Find area of square 15) Find area of square
b rectangle having having each side (s) having each side (s)
sidesa=992m s equals 753 m s equals 359 m
a andb=982m
s s
Answer: Answer: Answer:
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16) 17) Find area of square 18) Find area of square
30 Find Volume of having each side (s) having each side (s)
Cylinder s equals 739in equals 180 cm
s
Answer: Answer: Answer:
19) Find area of 20) 21) Find area of square
b rectangle having 30 Find Volume of having each side (s)
sidesa=915ft Cylinder equals 168 cm
a and b = 849 ft 0
Answer: Answer: Answer:
22) Find area of square 23)
having each side (s) 30 Find Volume of Find Volume of
s equals 620 m Cylinder Cylinder
s
Answer: Answer: Answer:
25) Find area of 26) Find area of 27)
b rectangle having b rectangle having Find Volume of
sidesa=848in sidesa= 845 ft Cylinder
a andb=846in a and b = 465 ft 0
Answer: Answer: Answer:
28) 29) Find area of 30) Find area of
22 Find VVolume of b rectangle having rectangle having
Cylinder sidesa=983 cm sidesa=995in
0 a and b =668 cm andb=988in
Answer: Answer: Answer:
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1)653748in  2) 848241m
8)335241in  9) 15927.8747537
15)128881m  16) 79262.38265007
22)384400m  23) 84823.001646924
29) 656644cm  30) 983060in
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3) 855172m

10) 462400ft

17) 546121in

24) 11309.733552923
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Answers:
4) 124608in 5) 24336in 6) 509796cm 7) 77872m
11) 351649m  12) 693889cm  13) 974144m 14) 567009m
18) 32400cm  19) 776835ft 20) 79262.38265007 21) 28224cm
25) 717408in  26) 392925ft 27) 61835.968200608 28) 33451.678575424
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